
1

Some basic misc. questions:



In ∆𝑨𝑩𝑪 and ∆𝑫𝑬𝑭, we 

have
𝑨𝑩

𝑫𝑭
=

𝑩𝑪

𝑫𝑬
=

𝑨𝑪

𝑬𝑭
 , then 

which of the following is 
true?
∆𝑨𝑩𝑪 और ∆𝑫𝑬𝑭 में,
𝑨𝑩

𝑫𝑭
=

𝑩𝑪

𝑫𝑬
=

𝑨𝑪

𝑬𝑭
 है| निम्ि में

से कौि सा सत्य है?
a) ∆𝑫𝑬𝑭~∆𝑨𝑩𝑪  
b) ∆𝑩𝑪𝑨~∆𝑫𝑬𝑭
c) ∆𝑪𝑨𝑩~∆𝑫𝑬𝑭  
d) ∆𝑫𝑬𝑭~∆𝑩𝑨𝑪

SSC CGL T1, 24 Aug 2021 S2
2PG (simi Basic misc) b 



In ∆𝑨𝑩𝑪, 𝑨𝑩 = 𝟐𝟎𝒄𝒎, 
𝑩𝑪 = 𝟕𝒄𝒎  and 𝑪𝑨 =
𝟏𝟓𝒄𝒎 . Side BC is 
produced to D such 
that ∆𝑫𝑨𝑩~∆𝑫𝑪𝑨. 𝑫𝑪 
is equal to:
∆𝑨𝑩𝑪 में, 𝑨𝑩 =
𝟐𝟎 𝒄𝒎, 𝑩𝑪 = 𝟕𝒄𝒎 और
𝑪𝑨 = 𝟏𝟓 𝒄𝒎 है| भजुा
BC को ब िंदु D तक इस
तरह  ढाया जाता है
कक ∆𝑫𝑨𝑩~∆𝑫𝑪𝑨 है|
𝑫𝑪 का माप  ताइए|
a) 𝟗 𝒄𝒎 b) 𝟖 𝒄𝒎
c) 𝟏𝟎 𝒄𝒎 d) 𝟕 𝒄𝒎

SSC CGL T2, 03 Feb  2022                                                                                                                         
3PG (simi Basic misc) a 



In equilateral ∆𝑨𝑩𝑪. D and E 
are points on the sides 𝑨𝑩 
and 𝑨𝑪 , respectively, such 
that 𝑨𝑫 = 𝑪𝑬. 𝑩𝑬 and 𝑪𝑫 
intersect at 𝑭. The measure (in 
degrees) of ∠𝑪𝑭𝑩 is:
सम ाहु ∆𝑨𝑩𝑪 में, ब िंदु D और
E क्रमशः 𝑨𝑩 और 𝑨𝑪 पर इस
प्रकार स्थित है ब िंदु हैं, कक
𝑨𝑫 = 𝑪𝑬 है| 𝑩𝑬 और 𝑪𝑫 ब िंदु
𝑭 पर प्रनतच्छेददत करती हैं। 
∠𝑪𝑭𝑩 का माप (अिंश में)
 ताइए|
a) 𝟏𝟐𝟎° b) 𝟏𝟑𝟓° 
c) 𝟏𝟐𝟓° d) 𝟏𝟎𝟓°

SSC CGL T2, 03 Feb 2022 
4PG (simi basic misc) a 



𝑶 is a point in the interior of 
∆𝑨𝑩𝑪 such that 𝑶𝑨 = 𝟏𝟐 𝒄𝒎,
𝑶𝑪 = 𝟗 𝒄𝒎, ∠𝑨𝑶𝑩 =
∠𝑩𝑶𝑪 = ∠𝑪𝑶𝑨 and ∠𝑨𝑩𝑪 =
𝟔𝟎°. What is the length (in 
𝒄𝒎) of 𝑶𝑩?
𝑶 एक ब िंदु है जो ∆𝑨𝑩𝑪  के
अिंतर इस प्रकार है कक 𝑶𝑨 =
𝟏𝟐 𝒄𝒎, 𝑶𝑪 = 𝟗 𝒄𝒎,
∠𝑨𝑶𝑩 = ∠𝑩𝑶𝑪 = ∠𝑪𝑶𝑨 और
∠𝑨𝑩𝑪 = 𝟔𝟎° है| 𝑶𝑩 की
लिं ाई (𝒄𝒎 में ) ककतिी है?
a) 𝟔 𝟐  b) 𝟒 𝟔

c) 𝟔 𝟑  d) 𝟒 𝟑

SSC CGL T2, 29 Jan 2022 5PG (simi Basic misc) c 



In ∆𝑨𝑩𝑪, 𝑨𝑫 ⊥ 𝑩𝑪 and 
𝑩𝑬 ⊥ 𝑨𝑪,  AD and BE 
intersect each other at F. 
If 𝑩𝑭 = 𝑨𝑪 , then the 
measure of ∠𝑨𝑩𝑪 Is:
बिभजु ∆𝑨𝑩𝑪  में, 𝑨𝑫 ⊥
𝑩𝑪 और 𝑩𝑬 ⊥ 𝑨𝑪 है, 𝑨𝑫 
और 𝑩𝑬  एक-दसूरे को
ब िंदु 𝑭  पर प्रनतच्छेददत
करते हैं। यदद 𝑩𝑭 =  𝑨𝑪 
है, तो ∠𝑨𝑩𝑪  का माप
क्या है?
a) 𝟒𝟓°  b) 𝟔𝟎°
c) 𝟕𝟎°   d) 𝟓𝟎°

SSC CGL T1, 4 Jun 2019 S2 6PG (simi basic Misc.) a 



ABC is an equilateral triangle and X, Y 
and Z are the points on BC, CA and AB 
respectively such that BX = CY = AZ. 
Which of the following is/are correct?
1) XYZ is an equilateral triangle
2) Triangle XYZ is similar to triangle ABC.
ABC एक समभजुी बिभजु है और ब न्दु
X, Y और Z भजुाओिं BC, CA और AB पर इस
प्रकार हैं कक BX = CY = AZ है| निम्ि में से
कौिसा सही है?
1) XYZ एक समभजुी बिभजु है|
2) बिभजु XYZ बिभजु ABC के समरूप है|
a) 1 only  b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

7
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Altitude in RAT (समकोण त्रिभुज में लम्ब):

B C

A

D

1) 𝑨𝑫𝟐 = 𝑫𝑩 × 𝑫𝑪
2) 𝑨𝑩𝟐 = 𝑩𝑫 × 𝑩𝑪
3) 𝑨𝑪𝟐 = 𝑪𝑫 × 𝑪𝑩

4) 
𝑨𝑩𝟐

𝑨𝑪𝟐 =
𝑩𝑫

𝑪𝑫

5) 𝑨𝑫 × 𝑩𝑪 = 𝑨𝑩 × 𝑨𝑪

6) 
𝟏

𝑨𝑫𝟐 =
𝟏

𝑨𝑩𝟐 +
𝟏

𝑨𝑪𝟐



ABC is a triangle in which ∠𝑨𝑩𝑪 = 𝟗𝟎°. BD 
is perpendicular to AC. Which of the 
following is TRUE?
a) Triangle BAD is similar to triangle CBD.
b) Triangle BAD is similar to triangle CAB.
c) Triangle CBD is similar to triangle CAB.
d) All
ABC एक बिभजु है स्जसमे ∠𝑨𝑩𝑪 = 𝟗𝟎° है|
BD, AC पर लम् है| निम्िललखित में से
कौि सा सत्य है?
a) बिभजु BAD बिभजु CBD के समरूप है|
b) बिभजु BAD बिभजु CAB के समरूप है|
c) बिभजु CBD बिभजु CAB के समरूप है|
d) सभी

10
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In a ∆𝑨𝑩𝑪, 𝑨𝑫 is perpendicular to 𝑩𝑪 
from A. If ∠𝑩𝑨𝑪 = 𝟗𝟎° , then 
𝑨𝑩𝟐: 𝑨𝑪𝟐 is equal to:
∆𝐀𝐁𝐂 में, A से 𝑨𝑫, 𝑩𝑪 पर लम् वत
हैl यदद ∠𝐁𝐀𝐂 = 𝟗𝟎° , तो 𝑨𝑩𝟐: 𝑨𝑪𝟐

का माि क्या है:
a) 𝑩𝑫𝟐: 𝑪𝑫𝟐 b) 𝑪𝑫: 𝑩𝑫 
c) 𝑪𝑫𝟐: 𝑩𝑫𝟐 d) 𝑩𝑫: 𝑪𝑫                                  

11
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In ∆𝑨𝑩𝑪, ∠𝑪 = 𝟗𝟎° and 𝑪𝑫 is 
perpendicular to 𝑨𝑩  at 𝑫 . If 

𝑨𝑫/𝑩𝑫 = 𝑲 then 𝑨𝑪/𝑩𝑪 =?
∆𝑨𝑩𝑪 में, ∠𝑪 = 𝟗𝟎° और CD, ब िंदु
𝑫 पर 𝑨𝑩  के लम् वत है। यदद
𝑨𝑫/𝑩𝑫 =  √𝒌, तो 𝑨𝑪/𝑩𝑪 = ?

a) 𝒌   b) 𝒌

c)
𝟏

𝒌
   d)

𝟒
𝒌

SSC CPO, 11 Dec 2019 S1 PG (simi RAT) d 



In ∆𝑨𝑩𝑪  𝑨𝑫  is drawn 
perpendicular from 𝑨 on 𝑩𝑪. If 
𝑨𝑫2 = 𝑩𝑫. 𝑪𝑫, then ∠𝑩𝑨𝑪 is
बिभजु ∆𝑨𝑩𝑪 में, 𝑨𝑫 ब िंदु 𝑨 से
भजुा 𝑩𝑪 पर  िा लम् है| 
अगर 𝑨𝑫2 = 𝑩𝑫. 𝑪𝑫 है तो
∠𝑩𝑨𝑪 =?
a) 𝟔𝟎°  b) 𝟗𝟎°  
c) 𝟑𝟎°   d) 𝟒𝟓°

13PG (simi RAT) b 



In a right angled triangle 𝑨𝑩𝑪, 𝑪𝑫 is the 
perpendicular on the hypotenuse 𝑨𝑩 . 
Which of the following is correct?
एक समकोण बिभजु 𝑨𝑩𝑪 में 𝑪𝑫 कणण 𝑨𝑩
पर लम्भ है निम्ि में से क्या सत्य है?
a) 𝐂𝐃 =

𝑨𝑪×𝑩𝑪

𝑨𝑩
  b) 𝐀𝐃 =

𝑨𝑪×𝑨𝑪

𝑨𝑩

c) 𝑩𝑫 =
𝑩𝑪×𝑩𝑪

𝑨𝑩
  d) All of the above 

14PG (simi RAT) d 
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𝒂 and 𝒃 are two sides adjacent to the 
right angle of a right-angled triangle 
and 𝒑 is the perpendicular drawn to 
the hypotenuse from the opposite 
vertex. Then 𝒑𝟐 is equal to
समकोण बिभजु में समकोण पर  ििे
वाली दो भजुाओिं की लम् ाई 𝒂 और 𝒃
है| इस ब िंदु से कणण पर  ििे वाले
लम् की लम् ाई 𝒑 है| 𝒑𝟐 पता करो|
a) 𝒂𝟐 + 𝒃𝟐  b)

𝟏

𝒂𝟐 +
𝟏

𝒃𝟐  

c)
𝒂𝟐𝒃𝟐

𝒂𝟐+𝒃𝟐  d) 𝒂𝟐 − 𝒃𝟐 

CGL 2013 T-2PG (simi RAT) c 



𝑨𝑩𝑪 is a triangle right angled at 𝑪 with 
𝑩𝑪 =  𝒂 and 𝑨𝑪 =  𝒃. If p is the length 
of the perpendicular from 𝑪 on 𝑨𝑩, then 
which one of the following is correct?
𝑨𝑩𝑪 ब न्दु 𝑪 पर एक समकोण बिभजु है
स्जसमे 𝑩𝑪 =  𝒂 और 𝑨𝑪 =  𝒃 है| अगर
ब न्दु 𝑪 से भजुा 𝑨𝑩 पर िीचे गए लिं की
लिं ाई 𝒑 है तो निम्ि में से कौिसा सही
है?
a) 𝒂²𝒃² =  𝒑² (𝒂² +  𝒃²)  
b) 𝒂²𝒃² =  𝒑² (𝒃² −  𝒂²)
c) 𝟐𝒂²𝒃² =  𝒑² (𝒂² +  𝒃²)  
d) 𝒂²𝒃² =  𝟐𝒑² (𝒂² +  𝒃²)

16
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In a ∆𝑨𝑩𝑪,  ∠𝑩𝑨𝑪 = 𝟗𝟎°,  𝑨𝑫  is drawn 
perpendicular from 𝑨 on 𝑩𝑪. Which among 
the following is the mean proportional 
between 𝑩𝑫 and 𝑩𝑪?
∆𝑨𝑩𝑪 में, ∠𝑩𝑨𝑪 = 𝟗𝟎°,  𝑩𝑪  पर 𝑨 से लिं 
𝑨𝑫 िीिंचा जाता है। 𝑩𝑫 से 𝑩𝑪 के  ीच
मध्यािपुाती निम्िललखित में से कौि सा
होगा?
a) 𝑨𝑫 b) 𝑨𝑩  c) 𝑪𝑫  d) 𝑨𝑪

SSC MTS, 5 Oct 2021, S1PG (simi RAT) b 



In ∆𝑨𝑩𝑪,∠𝑩𝑨𝑪 = 𝟗𝟎° and 𝑨𝑫 ⊥
 𝑩𝑪 . If 𝑨𝑫 = 𝟔 𝒄𝒎  and 𝑩𝑫 =
𝟒 𝒄𝒎, then the length of 𝑩𝑪 is
बिभजु ∆𝑨𝑩𝑪 में ∠𝑩𝑨𝑪 = 𝟗𝟎° 
और 𝑨𝑫 ⊥  𝑩𝑪 है| अगर 𝑨𝑫 =
𝟔 𝒄𝒎  और 𝑩𝑫 = 𝟒 𝒄𝒎 है तो
𝑩𝑪 =?
a) 𝟖 b) 𝟏𝟎         c) 𝟗        d)𝟏𝟑

18PG (simi RAT) d 



In right angled ∆𝑨𝑩𝑪,∠𝑨𝑩𝑪 = 𝟗𝟎°, 𝑩𝑵 
⊥ 𝑨𝑪, 𝑨𝑩 = 𝟔 𝒄𝒎, 𝑨𝑪 = 𝟏𝟎 𝒄𝒎. Then 
𝑨𝑵: 𝑵𝑪 is
समकोण बिभजु ∆𝑨𝑩𝑪 में ∠𝑨𝑩𝑪 = 𝟗𝟎°
है और 𝑩𝑵 ⊥ 𝑨𝑪, 𝑨𝑩 = 𝟔 cm, 𝑨𝑪 =
𝟏𝟎 𝒄𝒎 है|  𝑨𝑵: 𝑵𝑪 पता करें|
a) 𝟑: 𝟒          b) 𝟗: 𝟏𝟔             
c) 𝟑: 𝟏𝟔         d) 𝟏: 𝟒

19PG (simi RAT) b 



Suppose ∆𝑨𝑩𝑪 be right angled triangle 
where ∠𝑨 = 𝟗𝟎° and 𝑨𝑫 ⊥ 𝑩𝑪. If area 
of ∆𝑨𝑩𝑪 = 𝟒𝟎 𝒄𝒎𝟐, area of ∆𝑨𝑪𝑫 =
𝟏𝟎 𝒄𝒎𝟐 and 𝑨𝑪 = 𝟗 cm, then length of 
𝑩𝑪 is
बिभजु ∆𝑨𝑩𝑪  एक समकोण बिभजु है
स्जसमे ∠𝑨 = 𝟗𝟎° और 𝑨𝑫 ⊥ 𝑩𝑪 है| अगर 
∆𝑨𝑩𝑪 का क्षेिफल = 𝟒𝟎 𝒄𝒎𝟐 है और
∆𝑨𝑪𝑫 का क्षेिफल= 𝟏𝟎 𝒄𝒎𝟐 और 𝑨𝑪 =
𝟗 cm है तो 𝑩𝑪 की लम् ाई ज्ञात करें|
a) 𝟏𝟐         b) 𝟏𝟖          c) 𝟒      d) 𝟔

20PG (simi RAT) b 



𝑨𝑩 is a diameter of a circle with 
centre 𝑶.  𝑪𝑩 is a tangent to the circle 
at 𝑩. 𝑨𝑪 intersect the circle at 𝑮. If 
the radius of the circle is 𝟔𝒄𝒎 and 
𝑨𝑮 = 𝟖𝒄𝒎, then the length of 𝑩𝑪 is:
𝑨𝑩 एक वतृ्त का व्यास है स्जसका कें द्र
𝑶  है। 𝑪𝑩  वतृ के ब िंदु 𝑩  पर एक
थपशणरिा है। 𝑨𝑪, वतृ्त को 𝑮 पर काटती
है। यदद वतृ्त की बिज्या 𝟔 सेमी और
𝑨𝑮 =  𝟖 सेमी है, तो 𝑩𝑪 की लिं ाई है:
a) 𝟐 𝟓𝒄𝒎   b) 𝟔 𝟔𝒄𝒎 

c) 𝟐 𝟔𝒄𝒎   d) 𝟔 𝟓𝒄𝒎 
 

SSC CGL T1, 7 Jun 2019 S1 21PG (simi RAT) d 



𝑨𝑩𝑪 is a right angled triangle 
with base 𝑩𝑪 and height 𝑨𝑩. 
The hypotenuse 𝑨𝑪 is four times 
the length of the perpendicular 
drawn to it from the opposite 
vertex. What is 𝐭𝐚𝐧 𝑪 equal to (if 
𝑩𝑪 >  𝑨𝑩)?
𝑨𝑩𝑪 एक समकोण बिभजु है
स्जसका आधार 𝑩𝑪 व ऊिं चाई 𝑨𝑩
है| कणण 𝑨𝑪 की लिं ाई कणण पर
सामिे वाले शीर्ण से खिची गई
रेिा से 𝟒 गुिा है| 𝐭𝐚𝐧 𝑪 का
माि क्या है (अगर 𝑩𝑪 > 𝑨𝑩)?

a) 𝟐 − 𝟑  b) 𝟑 − 𝟏 

c) 𝟐 + 𝟑  d) 𝟑 + 𝟏

22
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